Hﬂ fq: = ¥ r'l:'-.l Hﬂ \ Valve Parts -Check valve

RHD L
=] t 1 ] ‘\ F:l‘\ ‘J
(;fer;-l\lﬁve & 5@#' * 7 I m & ‘ ““““L
o
L1 -
12
T E1S08434-1,24° R EEZEER = Comply with 1S08434-1, 24° ferrule connection
BTN/ RE RS, FEW m Generally supplied carbon steel/galvanized surface, stainless steel
MEIMZ Rt AV PR BE ishe) = ERZRig
D1 L1 L2 S1 S2 P1 kg/100 Type Product Code
29 43 17 17 M12x1.5 46 RHDO6L 0V1100606
8 30 44 19 19 M14x1.5 6.1 RHDOSL 0V1100808
10 40.5 55 24 22 M16x1.5 104 RHD10L 0V1101010
12 435 58 30 27 M18x1.5 16.6 RHD12L 0V1101212
15 415 62 32 27 M22x1.5 192 RHD15L 0V1101515
18 515 67 41 36 M26x1.5 292 RHD18L 0V1101818
2 615 77 46 41 M30x2 472 RHD22L 0V1102222
28 69.5 85 55 50 M36x2 746 RHD28L 0V1102828
35 745 96 65 60 M45x2 106.2 RHD35L 0V1103535
4 74 9 70 65 M52x2 151.8 RHD42L 0V1104242
345 485 19 19 M14x1.5 7.0 RHDO06S 0V1150606
345 485 19 19 M16x1.5 74 RHDO08S 0V1150808
10 40.5 55.5 24 2 M18x1.5 12.1 RHD10S 0V1151010
12 45 575 27 24 M20x1.5 14.8 RHD12S 0V1151212
14 415 64 32 27 M22x1.5 21.8 RHD14S 0V1151414
16 505 68 36 32 M24x1.5 286 RHD16S 0V1151616
20 54.5 76 50 4 M30x2 50.6 RHD20S 0V1152020
25 585 83 55 46 M36x2 639 RHD25S 0V1152525
30 69.5 97 60 60 M42x2 115.7 RHD30S 0V1153030
38 755 108 70 65 M52x2 165.0 RHD38S 0V1153838

P.303



